
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Exponenter på 10

10 =6 6, 05 × 10 =

10 =2 7, 89 ÷ 10 =3

8, 57 × 10 =2 10 =3

2, 73 × 10 =0 8 × 10 =3

−1 × 10 = 10 =2

10 =3 1 × 10 =5

−2 × 10 = 5 × 10 =2

10 =4 1, 89 × 10 =3

7, 79 × 10 =3 −3 × 10 =0

−1 × 10 = 3 × 10 =2

www.snowmath.com

https://www.snowmath.com


namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Exponenter på 10

10 = 10000006 6, 05 × 10 = 60.5

10 = 1002 7, 89 ÷ 10 = 0.007893

8, 57 × 10 = 8572 10 = 10003

2, 73 × 10 = 2.730 8 × 10 = 80003

−1 × 10 = −10 10 = 1002

10 = 10003 1 × 10 = 1000005

−2 × 10 = −20 5 × 10 = 5002

10 = 100004 1, 89 × 10 = 18903

7, 79 × 10 = 77903 −3 × 10 = −30

−1 × 10 = −10 3 × 10 = 3002
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